&5 89/HMF ololx|

© HEINRICH KIPP WERK GmbH & Co. KG

9 0pga);
Ag, ol T3
EEPUEENTESE

e,
K1258.04000 HHX2 H2 ==

A MEE SZE.

AMIM2]:
K0688
K0689
K0690
K0101
K1442
K0102
K0103
K1443
K0104
K0106
K1431

www.kipp.com - info@kipp.com 1/3



ol
u0
o
i

3/MIE olo|X]|

MO
=o

=25

2/3

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



[ ]
3l =2eHixt A XIS Adlnl = =C| 0
2 ST xS cHU I E =S O
== g9
SEW L E S0 o Ma XY A SUn
FEHS EIAO 77 T SRR EEE EEEE EEEAEE
zZe T 2t FH F1 F2 F3 F4
N N N N N
K1258.02600 90° 70° 150 1000 2600 800 1600
K1258.04000 112° 61° 250 2000 4000 1400 3000
K1258.04400 90° 70° 200 2200 4400 1400 2800
K1258.07000 90° 70° 250 3200 7000 1400 3000
K1258.08000 100° 50° 280 3000 8000 1800 3900
FEHS A A1 B B1 B3 BS C C1 C3 D E H L L1 M
K1258.02600 19 35 32 47 6 3 32 175 16 71 31 173 111,9 73,9 M8x60
K1258.04000 31,8 49,2 45,3 64,3 8 3 44 19 20 8,7 40 206 140,3 91,1 M10x85
K1258.04400 32 50 45 64 8 4 42 22 20 8,3 40 218 148 98 M10x80
K1258.07000 32 53 45 64 10 5 51 25 23 8,7 44 226 178 128 M12x100
K1258.08000 50,8 76,2 69,8 952 10 8 82,1 31,8 32 12,3 50 303 234 157,8 M16x150
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



